NM1337

How many fractions? — Student work samples

Link to the assessment resource, How many fractions? (NM1337)

The following student examples show strategies students' used to solve the problems.
Note: answers are not always correct for sufficient strategies.

Students solve as a division problem with fractions (some equivalence and calculation errors).
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Students use equivalent fractions to help solve the problem.
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Turns the division problem into a multiplication problem

‘Show how to work out how many%sin%.
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A form of Cross multiplying to solve for division problem
Show how to work out how many 3 s in3 .
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Students draw diagrams comparing two representations of the two numbers in the problem.

Show how to work out how many % sin3.

Showhcrwhwmkomhnwmmy%sinj.
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Show how to work out how many gsiny.
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Students note that 1/3 is bigger than 1/6 and therfore that it "doesn't go"

Incorrect operation with the fractions
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Whole number error — works with fractions as whole numbers (lncorrectly)
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Students attempt to solve using an insufficient diagram
Show bow to work owt how many - in .
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